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SUPERFICIE CONSTRUIDA :
SUPERFICIE CERRADA 263.28m? L

TOTAL 263.28m?
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SUPERFICIE CONSTRUIDA
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SUPERFICIE CERRADA
TERRAZA CUBIERTA
TERRAZA DESCUBIERTA

APARCAMIENTO

128.20m?
84.34m?
97.43m?
38.21m?

TOTAL

348.18m?

PLANTA BAJA
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SUPERFICIE CONSTRUIDA

SUPERFICIE CERRADA 118.90m?
TERRAZA CUBIERTA 68.45m?

TOTAL 187.35m?

PLANTA PRIMERA
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SUPERFICIE CONSTRUIDA

SUPERFICIE CERRADA 2.98m?
ESCALERA 11.81m?
TERRAZA CUBIERTA 1.41m?
TERRAZA DESCUBIERTA 106.63m?
PISCINA 15.11m?
TOTAL 137.94m?

PLANTA SOLARIUM
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